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BapuaHT 1243

BHUMAHMHE!

1. JlaHHasT KHWKKa COJEPKUT TECThl MO MpeaMeTaMm KA3AXCKHUHA
SI3BIK u AHTJIMMCKUHA SA3BIK.

2. Bpems tectupoBanus -160 munyT (2 9. 40 MuH).

3. Tect nmo npenmery, KABAXCKHH SI3BIK cocTouT n3 Tpex GI0KOB:
«AynupoBaHuey», «Jlekcuko-rpammaruueckuii 01o0k» u «Yrenuey». Ilo
osmokam «AyaupoBaHue» u «Urenue» Bam npesmaraercs mo aBa TEKCTa €
MSATHIO TECTOBBIMU 3aJ]aHUSIMU C BHIOOPOM OJTHOTO MPABUILHOT'O OTBETA U3
IITU MPEIJIOKEHHBIX. «JIekcuKo-rpaMMaTuyecKun OJI0K»
npeaycmarpuBaeT 20 TECTOBBIX 3aJIaHUI ¢ BEBIOOPOM OJIHOTO MPaBUIBLHOTO
OTBETA.

4. Tect mo mpeamery, AHTJIMACKUU SI3BIK  cocrour u3 Tpex
OJIOKOB:  «AyaupoBaHue», «JIekcuko-rpamMmmMarudeckuii  OJIOK» W
«Ytenuey. [lo 61okam «AynupoBanue» u «Urenue» Bam mpemnaraercs
0 JIBAa TEKCTa C IIAThIO TECTOBBIMHU 3aJaHUSIMH C BBIOOPOM OHOIO
MIPABUIBHOTO OTBETAa U3 OATA  OPEIJIOKECHHBIX. «Jlekcuko-
rpaMMaThHdecKuil O050k» mnpemycMmaTpuBaer 20 TECTOBBIX 3aJdaHUN C
BBIOOPOM OJIHOTO TIPAaBUJILHOTO OTBETA.

5. 3a BpeMsl TECTUPOBAHUS HEOOXOIUMO BBINOJHUTH TECTOBBIE 3aAaHUs 110
npeamery KAZAXCKHUMU A3bIK, 3atem no npeamery AHI'JIMUCKUHU
A3BIK.

6. Bce HeoOXoammbie pacdyeThl MOXKHO IPOWU3BOJINWTH HA CBOOOJHBIX
MecTax KHIHKKU.

7. Ilocnme 3aBepiieHUs TECTUPOBAHUS KHIDKKA JOJDKHA OBITh CJaHa
JEKYPHOMY.
8. Bo BpemMsl TeCTUPOBAHUS 3aNpeniaeTcs:

- be3 pPaspeuierusl BbIXO0UMb U3 Kuacca,

- nepecan)cusamuvcs ¢ Mecma Ha Mecmao,

- 0OMenusamuvcsl IK3AMEHAYUOHHBIMU Mamepuaiamu, nepenucovléames,

- UCNnoJib3064anisb cee()eﬂuﬂ, packKkpslearouiue CO()@pOfCClHM@ mecmos u KoOoe
npasuiibHblx OmMeenos K Hum,

- noJjb306ambvcCH MHd)OpMCZL[MOHHbZMu mamepuaiamu, IJ1E€KNPOHHBIMU
3ANUCHbIMU KHUMCKAMU, KalbKyjsimopamu, m€ﬂ8¢0HaMu u ()p
cpe@cmeaMu KOMMYHUKAUUU.
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KA3AXCKHH SI3BIK
AyaupoBaHue

Hucmpykyusa: « Buumamenvro nociywaiime mexcm u blNOJIHUME 3A0AHUS NO
mexkcmy».

1. KyH sHepruschlHbIH aaM3aT NaiagaHaTbiH 0eJIiri
A) y1 MeiHHaH Oip
B) »xeTi MpIHHAH Oip
C) oH MbIHHAH Oip
D) antel MBIHHAH Oip
E) TorbI3 MBIHHAH Oip
2. JlacTypmi emec sHEpTUst
A) eciMJTiK SHEPTHSICHI
B) aya sHepruscer
C) KeMip SHEPTHSICHI
D) OTbIH SHEPTHUACHI
E) xyH sHepruscel
3. baytama sHeprust Ke3epiHe JKaTIIak bl
A) cy
B) kyn
C) xen
D) aya
E) 6uooTeiH

. DHEpPreTUKaHbl XaJbIKapAJIbIK HAPBIKTA OHJIIPY KOHE TaChIMAIIAy KaXKETTLIIr
apTKaH FachIp

A) XXI
B) XVIII
C) XIX
D) XVII
E) XX
5. ATOM 3JIeKTp cTaHCaJapbIHIa OHIIpiIeal
A) 3JIeKTp SHEPTHUACHI
B) ra3 kyObIpiapsl
C) mmkizar eHimzaepi
D) cy xyiienepi
E) MyHait KanapIkTaphbl
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Hucmpykuyusa: « Buumamenvro nociywaiime mexcm u blnoIHUmMe 3a0AHUS NO
mexkcmy».

6. MoTiHre cail KeJeTiH TaKbIPhII
A) Tlomra GaiaHBICHI
B) Fanamrop Tapuxsr
C) AJFamikpl oJIeyMETTIK JKedi
D) Fanamrop xone 0i3
E) Bykapaibik aKknmapart Kypajigapsl
7. «IHTEpHET» CO31 CHI'CH TiJ
A) utanbsH
B) arbLambiH
C) ¢panuys
D) rpex
E) natein
8. FamamTopapIH €H anFarn KOJTaHbUTFaH MaKCaThl
A) cayna-caTThIK MaKCaTbIH/Ia
B) ToxipnOe aimMacy MakcaTbIH/1a
C) ackepu MakcarTa
D) 6iniM ay MakcaThIHIa
E) ciopTThiK MakcaTTa
9. XKemini )kacay TancChIpbUIFaH YHUBEPCUTETTEP CaHbI
Al
B) 4
C)3
D)5
E)2
10. AnFammkel cepBep OpHATBUIFAH Kep
A) AKIII-TeIH ocKepH 3epTTEyJIep areHTTIriHIe
B) ¥awi6puranusga
C) Jloc-Anmxenecteri KanmpopHus yHUBepCUTETIHIE
D) «<HACA» yiipiMbIHAA
E) Hopgerusina
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JlekCHKO-TPaAaMMaTHUYeCKU 0JI0K

Hnucempykyua: « Bam npednazaromces 3a0anus ¢ 00HUM NPABUTLHBIM OMEEMOM
U3 NAMU NPEONOHCEHHBIX ».

1. «Kyw 6inimoe, 6inim -
A) okymbina
B) nanaga
C) xanaga
D) mekrenTe
E) xitanTa

.................. » MaKaJIbIHbIH KaJIFaChl

2. AybIcnanbl MarbIHAJAFbI CO3 TIpPKECl
A) chIp IepTy
B) keH ChIHBII
C) eTKkip KauIIIbl
D) ka3bIK majia
E) anTein anka
3. Tek ysIH JaybICChI3 BIOBICTAH TYPFaH CO3
A) Ka3IbIK
B) G6arasr
C) MoHTiTK
D) Tazanbik
E) acbuibim
4. Bybinra nypbic OOJiHTeH KaTap
A) no-pic-kep
B) xay-bIx
C) 6ana-nan
D) koH-bIp-n1ay
E) kaii-pu1-ma
5. Kypnaeni ce3niy Typi OepiireH karap
A) BopanmeH aiikac
B) Kekremri mepeke
C) bluTans! okyibt
D) AnteiH carat
E) Anmartsl Kanacel
6. Ce3niy OeuiekTeyre KeJIMEUTIH MaFbIHAIbI OOJIIIeri
A) kypaeni ce3
B) TyGipaec co3
C) TybIHIBI CO3
D) Ty6ip ce3
E) tipkecken ce3
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7.

KoemMmekrec cenririaaeri co3
A) Keninaiy kepki

B) blkputaciieH opbIHIAIBI
C) TabpbicKa KeTTi

D) AGaiiasiH MIoKipTi

E) KitanTad oKbIIbI

8. ETiCTIKTEH »)acajraH 3aT eciM

A) agaMIIBLIBIK
B) apbakemr

C) amanapik

D) aitTeic

E) akpuias

9. CeiinieMHIH alThUTY MaKcaTblHa Kapai Typi

10.

11.

12,

13.

A) XKaiibima ceitiem

B) Kypmanac ceiinem

C) Cypayiibl ceitiem

D) ToasiMas coitiem

E) XKakTts coitiiem

JKaxrsl ceiliiem

A) BanaHpl )kaMaH yHpeTIey Kepek.

B) Camar MeHI TaHBIJbI.

C) OpbIHCHI3 CypaKTap KOHFa OOIMaiiIbl.
D) JIbIK TOJIBI XaNbIK,.

E) Typinen emtene O6anikan O0MamnIpbl.
Typa MarbIHAJIBI CO3

A) aK HHETTI

B) sxyac mine3ni

C) BICTBIK ce3iM

D) ambIk KeHiI

E) Tepen oiiibl

bana ...

BybIH yHaecTiriHE OaFbIHOAI JKaJFaHAThIH KOChIMILIA

A) -nap
B) -niki
C) -kait
D) -xxan
E) -man

Ce3 TypaeHaipyIIi KypHAKTap OEpiIreH KaTap

A) -1b1, -1, -JIBIK
B) -1mik, -1mia, -1IbL01
C) -nas, -Kop,-Koii
D) -a, -¢, -u

E) -ThIK, -TiK, -7i
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14. Toyennik xanraysl | )xaKTa scexeute KOMJAHBUTFAH COMUIIEM
A) O:1 — atanapbIHbIH OHETECI.
B) banambI3ra 10m ajibIk.
C) Epain kepki — el
D) OneniM — MeHiH Oo0erim.
E) BainbIkThIH aTackl — cHOCK.
15. )KuHakThIK caH eciMi MaKas
A) AT cbiHBI Oipey, ep ChIHBI MbIH
B) En kynarb — ey
C) KeIpBbIKTBIH 0ipi — KBIIBIP
D) XKeti s)kypTThIH TUTIH 011, )KeTi TypJi Ou1iM 011
E) Exny sxbuina en jkaHa, KbIPBIK JKbLIAA Ka3aH
16. Cabakrac Kypmaiac ceiiaem
A) 5 sxaHOBIp Kayabl, S Kap *Kayabl.
B) Bopan coktsl, Oipak 013 camapra IIBIKTHIK.
C) MeH KeJreHine, 0J1 YUre KEeTil KaJbIIThI.
D) KoHpbIpay COFbLIIBI J1a, cabak OacTasbl.
E) Ou xxakcel OKHIbI, Oipak agaMIepIiIiri as.
17. XKakcwI3 ceitnem
A) CabakTaH Kenrryre 00IMamiIb.
B) Basty eckeH KOHBIp JKeJl.
C) MeH OyriH KuHOFa OapaMbIH.
D) Katina 6apacbi3?
E) Otan — orran 1a bICTHIK.
18. Aybicnianbl MaFbIHAIIBI CO31 6ap MakKal
A) «Ouep anapl — KbI3bLUI T
B) «Ep e yIiH Tyazpl, €Il YIIiH eJe1i»
C) «ChIiIBIK KBIMOAT €eMeC, CHIAIACTHIK KbIMOAT)
D) «CymeH oitHaMa — 0aTapChliH, OTIICH OHAMa — KaHAPCHIH
E) «Otlinan ceiineceH e, OMIam coie
19. ACTBI ChI3BUIFaH KIKTEITECH CO3/IIH TYPI
Cen merin mizimimoe 60a2aH HCOKCOHIH.
A) 1-)xaKTa KIKTEJIT€H HETi3r1 3aT eciM
B) 2-xakTa )IKTEJITeH KOMEKIII CO3
C) 1-xaKTa KIKTEJITreH OOJBIMCHI3 ETICTIK
D) 2-)xakTta KIKTEeITeH TYBIH/bI ChIH €CiM
E) 2-xakTa sKiKTe/IreH OOJIBIMCHI3 €TICTIK
20. TwiHBIC O€MNTICI AYPHIC KOWBIIFAH COMIEM
A) AKBUIIBI, KAPHS aFbIll )KaTKaH Japusl.
B) AiiTy MeHiH apbi3bIM.
C) Tanan Taamac — KaHart.
D) XKep 6i3aiH — opTak yitimis.
E) XKacrap — eximi3aiH MaKTaHBIIIIBL.
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Yrenue

Hucmpykyua: « Buumamenvrno npoyumatime mexkcm u 8bINOJHUMeE 3a0aHUS NO
mexkcmy».

BisiMm apThIK na, 0ailJIbIK apTHIK na?

VII raceipma eMip cypreH oyiue O3ipeT OJIIHIH €l 1IIHAEe «UIIMHIH
KAKIachl» aTajblll KETKEHITTHIH pac-eTIPIriH ChlHAy MaKcaThIHAA >XKepiecTepi
oran 10 agamabl ke3ekneH xioepmekiii OonraH. OnapabiH 69pi O3iper Oiire Oip
raHa cypak: «buriM apTeIK Ta, OalJbIK apThIK IMa?» Jer CypauThIH OOJIbIIT
KemickeH. Erep ocbl cypakka OH TypJi »ayanm Oepce FaHa xaiaudaHbl IIbIH
MoMbIHAaMaK OobInTel. CoHAa O31ipeT O d9p ajlaM KoWFaH Oip cypakka Typii
JoMeKTepMeH ObLal ien kayan OepreH eKeH:

1. bimiM apThIK, 6MTKEHI, 0J1 — naitFamOapiap/aH KajlfaH MUpac, OaIIbIK —
OakpLIAapIaH KajJraH Mypa.

2. bimiMm apThIK, OUTIMAIHIH >KaHBIHJA ajai JgocTap kem OoJanbl, an Oaif
aJaMHBIH KaChIHJIa aMaJl TIOCTap KOl 00JIaIbI.

3. bimiM apTeIK, O AOCBHIHIBI KeOehTenl, OaliblK AYIIAaHBIHIIBI
apTTHIPAJIbI.

4. biyiMm apThIK, OHBI KaHIIIA KYMcaFaHMEH a3aiiMaiiibl. balbIKThI xkyMcait
OepceH, O1p KYHI TayChLIaIbI.

5. BinmiM apThIK, OHBI YpPBI-KapblJlaH CaKTAayIbIH KEperi >KOK, al >KUFaH
JTYHHEH/I1 CBIPT KO3/epJIeH KOpFalllTayMeH OTECIH.

6. biniming xem OoJica el caraH KbI3bIFaJbl, OalIBIFBIH KOIl 0oJjica, €1 CeHl
KbI3FaHa/Ibl, O1TIMHIH apTHIK O0JaTHIHBI COJI.

7. BimiM apThiK, OuUTiMiH Kem OOJFaHMEH, ecem-Kucam Kypri30eiciH,
OailNIbIFbIHA YIalibl €CeM JKYPTi3iM TYPYBIH KEpEK.

8. buniMm kaHima kem OoJica ga, Ipim-uIipin KeTnewai, AyHUEe man Oosica
OYJIiHeI1, COHJIBIKTAaH J1a OUTIM apThIK.

9. BiniM apThIK, OJ1 KICUTITiH MEH KIMIUITIHII apTThipaasl. ballasik Oosca,
CapaHJIbIK ITeH KOMaFaiJIbIFbIHIBI aPTTHIPAIbL.

10. IIprHaiipl OuTiMAI aaM OPHBIMEH COMJICHIIl, 13eTTUII Je apTajbl.
BaiinelFel MOJT amaM oOFaH MacTaHBIN, MAaKTaHAJbl, ACTaMIIBUIBIK KOpCeTe/Il,
COHBIKTaH O171iM apTHIK.

O3iper Ol OUTiIMHIH apTHIKIIBUIBIFRIH 10 agamra 10 Typmi moiiekTepMeH
Kayar OepreHiHe Ke3/epi JKETKEH JKepJieCTepl OHbI IIBIH MOHIHAE Xanmuda aen

MOMBIHAFaH €KEH.

1. Moridre colikec Makall
A) Kicinig Kicimiri KuimMiHae emec, OLTiMIiHIE.
B) Baiinbik Oaiiblk eMec, OipiiK — OaiIbIK.
C) AnThIH anMa, ajaFbIC all.
D) Onep-6iniM — ep KaHATHI.
E) Axia ammaiTeIH KYJIBII JKOK.
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2. MotiH OolipIHIIIAa O31peT O alTKaH OUTIMHIH apTHIKIIBLIBIFBI
A) aman goctap ken 00Ja/Ibl
B) makTaHbII, MacTaHa bl
C) ecem xypri3y Kepek
D) Oymninesni, ipin-tripumi
E) sxymcacan na, azaiimaiiapt
3. MoriHre coiikec KeIMEUTIH aKmapaT

A) Anam OaiIbIFbIHA MACTAHBII, MAKTAHAIBIL.
B) BaiinbiFbiHa KBI3BIFBII JIOCTACHIT JKYPETIHICD KOIl.
C) Baii 6os1caH Mal-MyJIKiHE ecen KYPri3il OThIPACKIH.
D) BaitnbIKThl KbI3FaHATBIH aamIap Keil.

E) Bait 6omyapiH emkaHaai Keperi oK.

4, Motinae O1TIMHIH alThIMaFaH apTHIKIIBLIBIFBI

A) anan goctap Taly *Karbl

B) 6ip Hopce oitnar Tady sKarbl

C) abbIpoiiIbl 60Ty KaFbl

D) anemi ceitniey xarbl

E) kayimci3 emip cypy >karbl

5. MortiH OoiibIHIIA OAMIIBIKTEI Mypa €Tl KaJAbIpFaH

A) naitram6GapJap

B) 6akpuimap

C) KpI3raHIIaKTap

D) aman nocrap

E) ypsi-kapsLiap
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Hucmpykyusa: « Buumamenvrno npoyumatime mexkcm u 8bINOJHUME 3a0AHUSL NO
mexkcmy».

KEP )KOHHATBI - XKETICY

AKericy — Tapuxu-reorpadusibik aiimak. ContycTikre bankaiil, coaTycTik-
mbiFbichiHAa Cacbikkesl MeH Ajaken, mblFbicta JKeTicy AnaTaybl, OHTYCTIK
KoHe OHTYCTiK-O0aThichiHAa Contyctik Tanb-1llanp >xoTamapbIMEH MIEKTECEI.
Tapuxu nepexrep MeH 3eprreynepae JKeTiCy aTblH KypaWThiH 7 ©3€H Typasbl
typaime mikip Oap. A.K.I'eitnc Oynapasin KarapsiHa Jlenci, backan, Capkan,
Axcy, byiten, Kaparan sxone Kexcy e3zennepin xatkbizca, A.Bnanranu backan,
Capkan e©3¢HAEpIHIH OpHBIHA COJTYCTIK-IIBIFBICTaFbl  AsSITO3, OHTYCTIK-
HIbIFBICTaFbl Lite e3eHaepiH ataiinabl. B.B.bapTonbaThIH allTybIHIIA, anFalliKblaa
xKeprumkrti xanslk JKeticy nen lneneH conaTycTikke Kapaid CO3bUIFaH alMaKThl
ataraH, oraH Jlenci, backan, Akcy, byiien, Kpputaram, Kaparan, Kekcy
©3CH/JIep1 CHIEeH.

Epreneri skeprumikTi Tadmanap mapyambuibiFbl  JKeTicynbl  gepOec
HSKOHOMUKAJIBIK alMaKka aHamaeIpAbl. Onap MIapyambUIBIKTBIH COJ Ke3Jerl
KETUITeH TYPl MANIIBUIBIK KOHE CcyapMalibl eT1HIIUTIKIICH alHaJIBbICHII, KOJIa MEH
TEMIPJCH JKacaliFaH Kypajaap bl Mai1aJaHraH.

Konenep kociOiHIH ©HIMAEp] YJIFalbIN, KOPIIl KeIINell TalnaiapMeH
HYKOHOMUKAJIBIK OalaHbICTap JaMbIIbl, cayda-caTThIK ©CTi. AKIIaHbI Mai1agaHy
YKOHE KEPrUTIKTI aKiia meirapy Tapaszaa naiiaa 60kl

Kericyna X-XI racelpiapaarbl  OTBIPBIKIIBI  €TIHIILIIK TEH  Kajia
MOJICHUETIHIH €[0Yylp OpPKEHJEreHIH apXeoJorTapJblH 3epTTeyJiepl AJICIISH/II.
Cayner eHepi xkoFaphl gopexene nambirad. OHbIH Kyarepiepi — babaxa xatyH
keceneci (X-XI) men Atimna 6u6i keceneci (XI-XI1).

Apxeonorrap, Tapuxiibiiap MeH reorpadrap XKericyasl ConTyCTiK-IIBIFbIC
Kericy xxone OntycTik-6atbic XKeticy nen exire 6ememi. XKeTiCyaplH K€H ayMarbl
COJITYCTIKTeH OHTYCTikKe Aciin 900 kM, anm OaTbicTaH mbIFbICKA AckiH 800 kM
KEPJI1 AJIBII KATHIP.

KazakcraHHbIH Toyelnci3ik amybiMeH Oipre JKericy na Ka3ak XaJIKbIHBIH

OalbIpFBI aTaMEKEH1 peTiHjae OipTyTac MEMIJICKETTIH MOJCHUETI JaMbIFaH,
DKOHOMMKACHI KyaTThl aMarblHA AHAJIIbI.

6. bapronbareiy mikipiniie, JKeTicy e3eHaepiHe KaTmai bl
A) byiien
B) backan
C) Asres
D) Jlenci
E) Akcy

10



BapuaHT 1243

7. Conrycrikte bankamimneH mekTeceTiH aiMak

8.

10.

A) Tsaup-111anp
B) XKericy

C) Tapa3

D) Cachikken
E) Anaken

Opra FaceIpiap/ia coyJieT OHEpiHiH JaMbIFaHABIFBIHBIH JoJeml — JKeTicymarsl
A) eriHmIiTiK

B) kecenenep

C) xana MoJCHHUETI

D) OTBIPBIKIIBLIBIK

E) xona 3arrap

. Faneimaap men 3eprreymuinep JXKeticynbl Hemiere 6emnei

A) 5-xe

B) 2-re

C) 3-ke

D) Benmetiai

E) 4-xe

Keticyapl nepOec SKOHOMUKAJIBIK aifMaKKa aifHaIBIPFaH MIapyallbUIbIK TYpi
A) CaynaMeH aitHaIIBICY

B) ManmbuibIK jkoHE STiHIITIK
C) Konenepmrisik mmeH 3eprepiik
D) Axma maiiganany

E) Axia msirapy

Tect no npeavery KABAXCKHH SI3BIK

3aBeplIeH.

11
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AHIJIMACKUMA SI3BIK
AyaupoBaHue

Hucmpykyusa: « Buumamenvro nociywaiime mexcm u blNOJIHUME 3A0AHUS NO
mexkcmy».

1. What does our industry need for its developing?
A) need more and more knowledge
B) need more and more colleges
C) still need more and more schools
D) need more and more studying
E) still need more and more institutes
2. The main idea of the text
A) We celebrated the 1% of September
B) The 1% of September is a holiday

C) The 1* of September is very important
D) Knowledge is power

E) Children must go to school

3. The 1* of September is a/an holiday in our country.
A) national

B) interesting
C) popular
D) important
E) famous
4. The correct sentence according to the text?

A) We need knowledge to be famous citizens of our country.

B) We need knowledge to be interesting citizens of our country.
C) We need knowledge to be creative citizens of our country.

D) We need knowledge to be active, useful citizens of our country.
E) We need knowledge to be educated citizens of our country.

5. We need knowledge ... active, useful citizens of our country.
A) to be

B) to read
C) to have
D) to do

E) to write

12
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Hucmpykuyusa: « Buumamenvro nociywaiime mexcm u blnoIHUmMe 3a0AHUS NO
mexkcmy».

6. Complete the sentence
All these sports have their
A) sport halls in all parts of the city
B) stations and stadiums
C) strong supporters and fans
D) sport associations and clubs
E) stadiums and players
7. What is the most popular sport in the Republic of Kazakhstan?
A) boxing
B) scuba diving
C) golf
D) hang gliding
E) rugby
8. Choose the right variant
A) The author’s favourite kind of sport is judo.
B) The author’s favourite kind of sport is tennis.
C) The author’s favourite kind of sport is boxing.
D) The author’s favourite kind of sport is football.
E) The author’s favourite kind of sport is wrestling.
9. The Dbest title for the text
A) Sport in my life and in the gym
B) Sport in the large city
C) Sport in Kazakhstan and in My Life
D) Tennis in Kazakhstan
E) Sport in the gym
10. Correct sentence
A) Sport events are often given by over the radio and TV.
B) Sport events are transmitted on a large city and TV.
C) Sport events are transmitted over the radio and TV.
D) Sport events are often retelling the radio and TV.
E) Sport events we can see over the radio and TV.

13
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JlekCHKO-TPaAaMMaTHUYeCKU 0JI0K

Hnucempykyua: « Bam npednazaromces 3a0anus ¢ 00HUM NPABUTLHBIM OMEEMOM
U3 NAMU NPEONOHCEHHBIX ».

1. A sentence with the phrasal verb
A) A child saw some milk in the glass and took it.
B) While shopping | usually try on new clothes.
C) What do you think about my project?
D) What is the aim of your project?
E) I usually go to the cinema on Sundays.
2. Antonym of attractive
A) beautiful
B) handsome
C) ugly
D) good-looking
E) wonderful
3. The right variant
Look at ... sky. It is covered with ... clouds.
A) althe
B) a/a
C) the/-
D) -/-
E) the/a
4. The right variant
My ... new car is that one.
A) frend’s
B) friend
C) frinds’
D) friend’s
E) friends’
5. The right variant of Indirect speech

“It 1s a fine idea.” — [ said it ... a fine idea.
A) was

B) has late
C) have been
D) is
E) had been
6. The Imperative mood
A) Do you have any questions for me?
B) If I were you, | would not do it.
C) I wish | were there to have a drink with you and dish.

D) | saw something today that really annoyed me.
E) Turn that computer off now!
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7. Complete the proverb

... speak louder than words.
A) Aim

B) Actions

C) Action

D) Money

E) Task

8. Paraphrase the underlined part of the sentence

Nurses look after patients.
A) take part in

B) take care of

C) look forward to

D) take after

E) take back

9. Present Perfect Passive

10.

11.

12,

A) had been done

B) will be told

C) are told

D) has been told

E) were done

The right variant of pronoun

He left ... land in 1950.

A) his

B) he

C) hers

D) they

E) she

The right variant

She asked her friend ... her that afternoon.
A) why didn't he phone

B) why he not phone

C) why he didn't phone

D) why he hadn't phoned

E) why hadn't he phoned

The sentence with “Complex Object”

A) | can see some people walking along the street.

B) I am walking along the street with some people.

C) I can see some people who are walking along the street.

D) Some people are walking along the street and | can see them.
E) I can see how some people are walking along the street.
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13.

14,

15.

16.

17.

18.

Complete the sentence

Scotland is a part of ....

A) England

B) Northern Ireland

C) the United States

D) the United Kingdom

E) British Ireland

The right variant

The film has a name “Scream”.

A) “Scream” is the name of the film.

B) “Scream” was the name of the film.

C) “Scream” is the name of any film.

D) “Scream” is the name the film.

E) “Scream” is of the name of the film.

The right variant

He is as ... as his brother.

A) the strongest

B) more strong

C) the strong

D) strong

E) stronger

The right variant

The UK consists of 4 parts:

A) Sweden, England, Wales and Northern

B) Greenland, Wales, Australia and Northern Ireland
C) Scotland, Greenland, Wales and Northern Ireland
D) California, Scotland, England, and Wales

E) Scotland, England, Wales and Northern Ireland
The right variant

My uncle always has his car ... .

A) to wash

B) wash

C) having washed

D) washing

E) washed

The right sentence in Indirect speech

He said: “I haven’t seen my cousin today.”

A) He said that he hadn’t seen my cousin today.
B) He said that he hadn’t seen his cousin that day.
C) He said that she hadn’t seen his cousin that day.
D) He said that he hasn’t seen his cousin that day.
E) He said that he didn’t see his cousin today.
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19. | was late. The teacher  thetestwhen| _ to class.
A) is already giving, get
B) had already given, got
C) has already given, get
D) has already given, got
E) was already giving, get
20. Read the text and complete the sentence
An old lady was sitting next to an American soldier in the station waiting-
room. The soldier was chewing a piece of gum. The old lady smiled at him and
said: «It is very kind of you to talk to me, young man, but I don’t hear
anything.
Anold lady... .
A) was speaking to a girl
B) was sitting near a soldier
C) didn’t see anything
D) was sitting at home
E) got angry
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Yrenue

Hucmpykyua: « Buumamenvrno npoyumatime mexkcm u 8bINOJHUMeE 3a0aHUS NO
mexkcmy».

OTHER ENGLISH-SPEAKING COUNTRIES

| would like to tell you about another countries, where English is the official
language. At first, it is the USA. After 350 years of development, the United
States of America still holds the leading position in the western world. The USA
Is the most powerful and highly developed country in the world.

What makes the USA the leader of the western world is its economic,
political and military dominance over other countries.

Canada is the second largest country in the world. Only Russia has a greater
land area. Canada is situated in North America. About 28 million people live in
Canada. Canada is an independent nation. However, according to the Constitution
Act of 1982 British Monarch, Queen Elizabeth Il of the United Kingdom is
recognized as Queen of Canada. Canada's people are varied. About 57% of all
Canadians have some English ancestry.

Australia is the only country in the world that is also a continent. It is the
sixth large country and the smallest continent. The country's official name is
Commonwealth of Australia. The Commonwealth of Australia is a federation of
states. Australia has six states and two territories. Australia is a constitutional
monarchy like Great Britain. The Britain monarch, Queen Elizabeth Il is also
queen of Australia and country's head of state. However, the queen has little
power in the Australian government.

New Zealand is situated on two main islands — the North Island and the

South Island. Wellington is the capital of New Zealand. English is the official
language of New Zealand and is spoken throughout the country. New Zealand is a
constitutional monarchy, in which the sovereign exercises authority in accordance
with a written or unwritten constitution. The British Monarch, Queen Elizabeth 11
of the United Kingdom, is the monarch of New Zealand. Britain gave New
Zealand a constitution in 1852. New Zealand has one of the highest standard of
living in the world. New Zealand's economy depends on trade with many
countries — Australia, Britain and the USA.

1. The right answer:
What is the full name of Australia?
A) Commonweath of Australia
B) Commonwealth of Australia
C) Cammonwealth of Australia
D) Comonwealth of Australia
E) Commonwealth of Australa
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2. Correct word order in the sentence
world in country second Canada is the largest the
9 6 2 1 78 4 3
A5 7 8
B)9 3 6
C)9 6 2
D)3 6 1
E)7 8 1
3. The right answer
What is a constitutional monarchy?
A) A constitutional monarchy is a form of monarchy in which the people work
in accordance with unwritten constitution.
B) A constitutional monarchy is a country, where the people drink and eat, sing
and dance in accordance with a unwritten laws.
C) A constitutional monarchy is a form of monarchy in which the monarchs
don’t go to anywhere in accordance with a unwritten laws.
D) A constitutional monarchy is a form of military in which the Parliament
work in accordance with a written or unwritten constitution.
E) A constitutional monarchy is a form of monarchy in which the sovereign
exercises authority in accordance with a written or unwritten constitution.
4. A question to the sentence
Wellington is the capital of New Zealand.
A) Did Wellington is the capital of New Zealand
B) Wellington isn’t the capital of New Zealand
C) Is Wellington the capital of New Zealand?
D) Does it is the capital of New Zealand?
E) Why Wellington is the capital of New Zealand?
5. English speaking countries are:
A) Canada, Australia, Kazakhstan, New Zealand, Korea.
B) UK, USA, Canada, Australia, New Zealand.
C) Russia, Australia, Kazakhstan, New Zealand, Korea.
D) Russia, Australia, Korea. Kazakhstan, China.
E) Canada, Australia, New Zealand, Germany.
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Hucmpykyusa: « Buumamenvrno npoyumatime mexkcm u 8bINOJHUME 3a0AHUSL NO
mexkcmy».

LONDON TRAFFIC

London is so large that visitors must learn to use buses and the underground
to get about. London taxis are too expensive for any but the rich. You can get a
map of the underground and the bus routes at any ticket office. The word
“Underground” across a large circle shows you where the stations are. The
London underground is called the “tube”.

Bus stops are marked clearly. In the suburbs, buses do not stop unless there
are passengers who wish to get on or get off. These stops are marked “Request
Stops”. Inside some buses, you will see the notice: “Please, state your destination
clearly and have the exact fare ready.” It is easy enough to tell the conductor
where you want to go to, but not always possible to have the exact fare. The
conductor will always give you the change.

The London buses are very large. They have seats both upstairs and
downstairs. English children like to sit on the front seats of a big London bus.
They can see everything that is happening in the streets.

Here are some of the things you may hear on a bus in London:

“Fares, please.”

“Four pence, please.”

“Full up inside; plenty of seats on top.”

‘Standing room only.’

“No, sir, this bus does not go to Victoria Station.”

“You want a number 11.”

“No more seats on top; five seats inside.”

In Great Britain traffic keeps to the left. Motor-cars, buses and cyclists must

all keep to the left side of the road. In most other countries traffic keeps to the
right. There is heavy traffic in London and you must observe traffic rules.

6. The correct question to the sentence
A conductor will always give you a change.
A) Who does always give a change
B) What never give you a change?
C) Who will always give you a change?
D) Who shall always give you a change?
E) Who always gives you a change?
7. The things you won’t hear on a bus in London
A) “Five pence, please.”
B) “ Full up inside.”
C) “Standing room only.”
D) “No more sit on the top.”
E) “Fasten your belts.”
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8.

The London buses are very large. ... .

A) Children want to play in the buses.

B) They have seats neither upstairs nor downstairs.
C) They have nor seating nor standing places.

D) They haven’t any seats inside.

E) They have seats both upstairs and downstairs.

9. The right phrase according to the text

10.

A) What can you get at any ticket office? — Tickets to the theatre.

B) What must visitors of London learn? — A map of London.

C) Why must you observe traffic rules? — Because the traffic is very heavy.
D) How is the London underground called? — Metro.

E) Which stops are marked "Request Stops"? — In the center of London.
Where can you read the note “Request Stop”?

A) inside the door of metro

B) on a bus in London

C) on atrain in London

D) out of the bus in London

E) on a taxi in London

Tect no npeavery AHTJIMACKUH SI3BIK

3aBepIleH.
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